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QUESTION 1
Which of the following statements about the FSSO collector agent timers is true?
A. The workstation verify interval is used to periodically check if a workstation is still a domain member.

B. The IP address change verify interval monitors the server IP address where the collector agent is installed, and the
updates the collector agent configuration if it changes.

C. The user group cache expiry is used to age out the monitored groups.
D. The dead entry timeout interval is used to age out entries with an unverified status.

Correct Answer: D

QUESTION 2

How do you format the FortiGate flash disk?

A. Load a debug FortiOS image.

B. Load the hardware test (HQIP) image.

C. Execute the CLI command execute formatlogdisk.

D. Select the format boot device option from the BIOS menu.

Correct Answer: D

QUESTION 3

Which of the following features is supported by web filter in flow-based inspection mode with NGFW mode set to profile-
based?

A. FortiGuard Quotas
B. Static URL

C. Search engines

D. Rating option

Correct Answer: B

QUESTION 4

View the exhibit.
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is_manage 2()=1, is_root_master()=1
debugzon

global: 85 2 3c c9 £5 21 la 78 69 b6 20 bd
root: 30 d ef 77 aa £7 50 00 25 4d 42 a9 7d
all: § 2 S5b 10 8a 64 30 £2 34 13 cl1 35

checksum

global: 85 26 52 £2 £f9 6e 3c c9 £5 21 1a 78 69 b6 20 bd
root: 30 51 63 1b 2d ef 77 aa £7 50 00 25 4d 42 a9 7d
all: 38 28 3d e4 24 8f S5b 10 Ba 64 30 £2 34 13 cl 35

is manage master()=0, is_root_master ()=0

debugzone

global: 85 26 52 £f2 £f9 6e 3c c9 £5 21 1a 78 69 b6 20 bd
root: 30 51 63 1b 2d ef 77 aa £7 50 00 25 4d 8a 55 8b
all: 38 28 3d e4 24 8f 5b 10 8a 64 30 £2 34 dc 9%9a 43

checksum

global: 85 26 52 £2 f9 6e 3c c9 £5 21 1a 78 69 b6 20 bd
root: 30 51 63 1b 2d ef 77 aa £7 50 00 25 4d 8a 55 8b
all: 38 28 3d e4 24 8f Sb 10 8a 64 30 £2 34 dc 9a 43

Based on this output, which statements are correct? (Choose two.)

A. The all VDOM is not synchronized between the primary and secondary FortiGate devices.

B. The root VDOM is not synchronized between the primary and secondary FortiGate devices.

C. The global configuration is synchronized between the primary and secondary FortiGate devices.
D. The FortiGate devices have three VDOMs.

Correct Answer: BC
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QUESTION 5

Which statements about a One-to-One IP pool are true? (Choose two.)

A. Itis used for destination NAT.

B. It allows the fixed mapping of an internal address range to an external address range.
C. It does not use port address translation.

D. It allows the configuration of ARP replies.

Correct Answer: CD
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